Calculus(Il) HW1 (2/26)

Sec.41 # 21

21-23 Use Definition 2 to find an expression for the area
under the graph of f as a limit. Do not evaluate the limit.
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[Solution]
flz) = Ifj‘; -, 1<z <3 Ar=(3-1)/n=2/nandz; = 1 +ilz = 1+2i/n.
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Sec.4.1 # 25

24-25 Determine a region whose area is equal to the given
limit. Do not evaluate the limit.
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[Solution]

i

lim 3 ™ tan ;—ﬂ can be mterpreted as the area of the region lying under the graph of y = tan x on the interval [‘D, %] .
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e r; =0+1Ar = e and r; = x;, the expression for the area is
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since for y = tanx on [O_. i] with Az =

mn

A= lim Y f(z])Az= lim 3 tan
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(4—) e Note that this answer is not unique, since the expression for the area is
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the same for the function y = tan(z — k7) on the interval [k?r, kem + %], where k is any integer.

Sec.4.2 % 18

17-20 Express the limit as a definite integral on the given
interval.

lim X xiv/1 + x7 Ax, [2,5]
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[Solution]

On [2,5], lim Z riv/1+z} Ar = f; xv1+ 3 da.
T =
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17-20 Express the limit as a definite integral on the given
interval.
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[Solution]
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On [m,27x], lim 3 COS T Axr = f ot dr.
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